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XERE: _pllpm
JRSCEERE:  hitp//www.cnblogs.com/kagari/p/8799267.html

RRA
0x00 & H & # &%
BENE:

flag{welcome to qwb}

FLAG/H :
flag{welcome_to_qwb}

0x01 & H % ¥ Weclome
BENS:

BYEENMHRIME— M bmpts BB A3, RENLEESR bmp, wiE

&, Bd &5 flag


https://blog.csdn.net/weixin_30457465
https://so.csdn.net/so/search/s.do?q=php&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=python&t=blog&o=vip&s=&l=&f=&viparticle=
http://www.cnblogs.com/kagari/p/8799267.html

FLAG/H :

QWB{Wa3lcOme}

0x02 & H 4 # streamgame1
BIENE:
FREKEAK , EOEEERINag

F—+—1—+—-2——4—-3——4—————+—— §————4————6—
#coding=utf-8

def 1lfsr(R,mask):
output = (R << 1) & exffffff
i=(R&mask)&OxFFFFff
lastbit=e
while il=@:
lastbit*=(i&1)
izis»l
output”=lastbit
return (output,lastbit)

for ¢ in range(2%*19,2%*18,-1):#[C/EF2~19{7
flag='flag{'
flag+=bin(c)[2:]+"'} ' #Fflagly itk
R=int(flag[5:-1],2)

mask = ebleleelleeeleeelllee
s=""'
for i in range(12):

tmp=0@

for j in range(8):
(R,out)=1fsr(R,mask)
tmp=(tmp << 1)"out
s+=hex(tmp)[2:]
if s==s1: #flag{lllelelleeesllelell}
print flag,s

B CA\WINDOWS\system32\cmd.exe
71 1 011 5

FLAG/H :

flag{1110101100001101011}



0x03 & H & websZ 3|
BIENE:

FE—XFIFAPHPES K

R D= DOsts OEE (IsssE Cux O0nr = RE 8 &8 @ Hodksar

Encryption ~ Encoding ~ Other ~
@ Load URL http://39.107.33.96:10000/
§ Spiit URL

») Execute 1 Post data [] Referrer [] User Agent [] Cookies

Post Data param1=QNKCDZO&param2=5878926199a

Php e Ab B0 75 71 5 I R OeTT Sk K #R B A
B RAM A HA

O D=Fd Dfds ODRFE (esssd Cue OnhFr FmE B FR @ Hackbar

Encryption » Encoding v Other «

i@ Load URL http://39 107 33 96-10000/
4§ spituRL

) Execute
Y [ Post data (] Referrer [] User Agent [] Cookies

Post Data param1[J=QNKCDZO&paramz[J=s678926109a

P NEZERIMAS IOV T S B 4 B AR [B1 0
B=R

AR TRANE RmASH R, e oyurlZifid 5 R32
L2 3 YW

a=urllib.quote(open("1.jpg","rb").read()[:3200000])

In [7]: with open('1.txt','a") as f:

f.write(a)

In [8]: b=urllib.quote(open("2.jpg","rb").read()[:3200000])

In [9]: with open('2.txt','a") as f:

f.write(b)



Raw Headets-TE]

HTTP/1.1 200 OK
Date: Sat, 24 Mar 2018 05:11:49 GMT
Server: Apache/Z.4.7 (Ubuntu)
PHP/5.5.9-1lubuntu4.20
19 Nov 1981 0B8:5 0 GHMT
o-store, no-cache, must-revalidate, post-check=0, pre-check=0

T

Pragma: n
Content-

onnectior
Content-Ty

html

success! flag is (WB{slgnslgnslgnaftermd5})

Biiflag

FLAG/H :



QWB{s1gns1gns1gnaftermd5}

0x04 & H 4 # streamgame?2
BIENE:

BIRKEARK , EIHFESEEag

1 #coding=utf-8

2

3 Edef 1fsr(R,mask):

4 output = (R << 1) & oxffffff
5 i=(R&mask)&exffffff

6 lastbit=e

74 while il=@:

8 lastbit”=(i&1)

9 i=i>>1

1@ output”=lastbit

11 return (output,lastbit)
12

13  s1="B2E9QE13AB6A1BFC4BE67D53" . lower( )#key
14 flag="'flag{’
15 Hfor c in range(2**21,2%*28,-1):

16 flag="flag{"’
17 flag+=bin(c)[2:]+"}'
18 R=int(flag[5:-1],2)
19 mask = @xleeeez
20 s=""
214 for i in range(12):
22 tmp=0
23H for j in range(8):
24 (R,out)=1fsr(R,mask)
25 tmp=(tmp << 1)"out
26 s+=hex(tmp)[2:]
274 if s==s1: # flag{llelllleeleleelleleel}
pog print flag,s|
29
FLAG/H :

Flag{110111100101001101001}

0x05 & H & # simplecheck
BEAE:

XE— Napkidi[a 8, 360/E4E+T Frapkf#/Eclasses.dex, dex2jar.bati kjar

~

BIR (5=t
META-INF 2018/3/2-
res 2018/3/2-

£ AndroidManifest.xml 2018/3/2«

[ classes.dex 2018/3/2

|£ ] classes-dex2jar.jar 2018/3/2-

D resources.arsc 2018/3/2-

WMREIFENZE | a8 & i 75 A S sl 2 S AR -F 7 Z 4K



#-f android.support
= com.a.simplecheck

- [4] MainActivity
=-(@ MainActivity
onCreate(Bundle) : void
=-[3) a
5@ I:
oS a:int]]
oS b:int]]
oS ¢:int]
of d:int]]

@° a(String) : boolean

{5 Apython’s Hi f#2% i 4

MainActivity.class a.dass x

package com.a.simplecheck;

public class a
{

private static
private
private

private

int[] a= [ 0,
static int[] b =
static c

d

static

int[]
int[]

={ 0,

{
if (paramString.length()
return false;

}
arrayOofInt[0] = 0;

int k = paramString.length;
int i = 0;
int j = 1;
while (i < k)
{
arrayOfInt(j]
4= 1;
i4=1;
}
i=20;
for (;;)
{
if (i >= c.length) {
break labellé&é;
}
if ((a[i]
break;

'= b[i]

I ' 1 L 2 n 3

1 import math

397283021,
417733494,

467607947, 314806739,
342206934, 392460324,
218058699, 198137551, 368748557,
389214123, 829768461, 534844356,
b =[ 1371@, 46393, 49151, 36908,

2 a =[ @, 146527998, 205327308, 94243885, 138810487, 408218567,
77866117, 71548549, 563255818, 559010506, 449818203, 576200653,

341420795, 341420795, 469998524,
382290309, 185532945, 364788505,
440064477, 319861317, 676258995,
427514172, 864854312]

59564, 35883, 3517, 52957, 1509,

1465279

{ 13710, 463
= [ 38129,

573!
-341994!

public static boolean a(String paramSi

!'= p.lengtl

int[] arrayOfInt = new int[a.length

paramString = paramString.getBytes(|

= paramString[i];

* arrayOfInt[i]

61287, 63274, 27694, 20932, 37997, 22869, 8438, 33995, 53298, 16908,
38902, 64682, 64828, 29629, 26537, 12826, 31610, 48639, 19968, 45654,
51972, 64956, 45293, 64752, 37108]

4 ¢ =[ 38129, 57355, 22538, 47767, 8948, 4975, 27058, 56182, 21796,
41174, 63445, 53454, 28762, 59215, 16487, 6434@, 37644, 59896, 41276,
25896, 27501, 38944, 37039, 38213, 61842, 43497, 9221, 9879, 14436,
60468, 19926, 47198, 8496, 64666]

5 d =[ @, -341994984, -3704e4e60, -257581614, -494024809, -135267265,
54930974, -155841406, 540422378, -107286502, -128056922, 265261633,
275964257, 119059597, 202392013, 283676377, 126284124, -68971e76,
261217574, 197555158, -12893337, -10283675, 93868075, 121661845,
167461231, 123220255, 221587, 258914772, 180963987, 107841171,
41609001, 276531381, 169983906, 276158562]

& ae=[@]

7 i=e

while True:
if i »>= len(c):

break;
if a@[i]==(math.sqrt(c[i]*c[i]-4*b[i]*(d[1]-a[i]))-c[1])/2/b[i]:
aB.append(int((math.sqrt(c[i]*c[1]-4*b[i]*(d[i]-a[i+1]))-c[i])
. /2/b[11))

13 i+=1

14 s='
for i in a@[1:]:

s+=chr(i)

17 print s

B CAWINDOWS\system32\cmd.exe

FLAG/H :

flag{MAth_i& GOOd_DON7 90V _7hinK?}
0x06 /& H & #& streamgame4

BIEAE:

BB | INEEEI D TR



#coding=utf-8
def nlfsr(R,mask):
output = (R << 1) & exffffff
i=(R&mask)&exffffff
lastbit=@
changesign=True
while il=0@:
if changesign:
lastbit &= (i & 1)
changesign=False
else:
lastbit~=(i8&1)
i=i>»1
output”=lastbit
return (output,lastbit)

s1='D10D9484393531E5E4DC7DOCA7ABS7COE " . lower( )#key }y1024KB, {H 5 AN T A~ J: 443 Bl v)
for ¢ in range(2**2@,2**21):
flag="flag{"
flag+=bin(c)[2:]+"}"
R=int(flag[5:-1],2)
mask=6bllelleellelleellellle
s='
for i in range(4):#
tmp=0@
for j in range(8):
(R,out)=nlfsr(R,mask)
tmp=(tmp << 1)"out
s+=hex(tmp)[2:]
if s==s1[0:8]:
print flag,s #flag{100100111016101101011}

101101011

FLAG/H :
flag{100100111010101101011}

T :https://www.cnblogs.com/kagari/p/8799267.html
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